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:01 The insoluble residue in cement should be-

i< # Srga-=id a=iy g+ arfeu-
Between 20% to 25%

20% O 25% & o9
Between 10% to 20%

10% ¥ 20% & &id
Less than 20%
20% ° HH

Less than 1.5%
1.5% o $H

:02 Which of the following are non-conventional building

materials?

fFrafafed ¥ 8 oF-91 TR RERFE Y- 9l 82
Ferro-cement / hal-fiA=<
Cement impregnated gunny bag
dHve '
Both of the above / B’lTﬂ?ﬁ B

None of the above / B'CI'{?IHEI Ad ﬁ? Hﬁ

: 03 Which of the following cements is suitable for use in massive

concrete structures such as large dams?

e 9Ty S8 YR Hepie TSl & foe g & i 3t Hide
SUYH B-

Ordinary Portland cement

HIYRY Qidavs HAe

Low heat cement

3T ST HiHe

Rapid hardening cement
MY SITe! A
Sulphate resisting cement

Hetbe yfaRidt Wee

: 04 Match list | with list Il and select the correct answer from the

given below lists.

Tet-1 [ -1l BT A Y Td Fe B Grar A W3-



List IR | List Il / =11

(Constituent of cement (Contribution to property of cement

e & 3quq) Hide & T § IRTeH)

A. Influences setting property

Ve S & U1 BT YHIGT PR 2

B. Alkalis / &R

b. Cause effloresqence and staining
Spea aYUT SIS BT HRT

N h
C. Alumina / TeGFAAT WC mpamrts Stmre"gt%
D. Iron oxide / 3R 3TRITSS  d. Imparts color / T U&TH $dl 8

a)
b)
c)
d)

Q

a)

b)

d)

A-c,B-b,C-a,D-d
A-b,B-c,C-d,D-a
A-c,B-a,C-b,D-d
A-b,B-d,C-a,D-c

: 05 As a cheap alternative, the fineness of cement is tested by

using: / T fawed & =0 & WA &I J&AaT BT uier fraer
WART B fhaT1 Sar 8 2

IS 90 yu sieve where at least 95% (by weight) should pass IS

90 py ATA o TH | FH T FH 95% (To1 §IRT) BAD HHaT
ClIY

IS 100 pu sieve where at least 90% (by weight) should pass

IS 100 pp AT ForaH | HH | FH 90% (T §IRT) DB

1Ry

IS 100 up sieve wherg at least 90% (by weight) should be retained
IS 100 pp 1A ForaH A HH | HH 90% (Toi GRT) Ufd Y1iar Tg=n
a1feq

IS 90 pp sieve where at least 90% (by weight) should pass
IS 90 yp TTA ORI J FH A FH 90% (TSI GRT) DAD

: 06 In ordinary Portland cement, the first one to react with water

gwﬁﬁ?ﬁﬁ?ﬁwﬁﬁuwmmﬁww@m
C3A/CTS HIcRAH TYfAAe



b)
c)
d)

Q

a)
b)
c)
d)

Q

C2S/STs Hfewrad Riferde
C3S/eTs Pferraw Riferde

C.AF/TT hieRraw Tegfi therse

:07 The ordinary Portland cement has fineness value of:

quﬁﬁ??ﬂﬁ?ﬂﬁm HI (fineness value)...... ﬁ?—n%l
225 sqm/kg/225 qiHIe/fHUT
325 sqm/kg/325 TIHIC/fHUT
320 sqm/kg/320 TIHIC/fBUT
500 sqm/kg/500 TIHIC/fBUT

: 08 The role of superplasticizer in a cement paste is

TP U< URe # g WIRe® ot YfHHT F1 H1 & e 31
Disperse the particles only / PUN B Had baA P ﬁrq
Assemble the particles and to remove the air bubbles
U B PG 3R §aT A DI g3 P & foQ
Disperse the particles, remove air bubbles and to retard setting
HUN &I BN, 91 F A Bl g8 A 3N T THIEG & forg
Retard setting only / 1t #g S/H1d & forg

: 09 Which IS code gives specifications about cement plaster?

S 9T IS DI e WeX & 9R & fARrydrs 341 8-
IS 1661 b) IS 1500
IS 1221 d) IS 1331

: 10 Total quantity of sulfur in cement should not exceed

e # gehY B $d 76 ... ¥ 3ftre g1 gl ATfee-
0.0185
0.02
0.0275
0.035

Q:11 Select cement. Out of the following, which may be used in

mass concrete construction?



A ford diwe 9§ I9@ g1 S B @v Heble AT (mass
concrete construction) A v far o 9

Low heat Portland cement. / 3fcd HCHT ﬁﬁ%’?ﬂﬁ?
2. Portland blast furnance slag cement.

TicaTs ardl-ygt UTg-ad Hiie

3. Portland pozzolana cement. / TIdA~S TSTaET i<
4. Rapld hardenln% Portland cement.

—r

ﬂﬁw%
a) W1 b) 192
c) 1,293 d) i

Q:12 The compressive strength of rapid hardening cement after 1
day curing should not be less than-

iy Foliiewur Hide w Frite w1 fd7 at W

a) 109 Kg/Cm? b) 90 Kg/Cm?
c) 112 Kg/Cm? d) 150 Kg/Cm?

Q :13 Which of the following wood is resistant to white ants
fFafafead 9 9 o9 W ot due & e ufarid -

a) Chir/ 98 b) Teak/dl®

c) Deodar/¢dcR d) Sal/I@

Q:14 Type of defects in timber are due to fungi action is

Bl fohar & FRUT UHTE A 5 YHR ST IV I gidT 8-
a) Blue stain / a1 A==
b) Dry rot /[P el
c) Brown rot/ 913 TclH
d) All of the above / Sudad It

Q:15 The defect caused due to over-maturity and unventilated
storage during transit is called-

ura & gAY 3ifa aiiusdr ek raifad HUSRUI & SR g1

9141 31V HETaT 6-
a) Heart shake / dIR faure

b) Cup shake / a4 faure



C) Foxiness / BIGRIHY
d) Rind gall / ST¢ oI+

Q:16 The timber whose thickness is less than 5cm and the width
exceeds 12cm, is called a-

Uy forae! Aiers 5 9. A $H AR TS 12 94 A siftre 8,
g1 STaT 3 -

a) Board / SIS

b) Plank / a%&T

c) Batten / ded (d)

d) Log/dgI

Q : 17 Which of the following is the hardest wood?
o o 3 +19 I aes! 999 e 9% sidi 82

a) Teak/AATM+ b) Shisham/=l=H

c) Babul/dgd d) Chirdls

Q:18 The most valuable timber may be obtained from....

99 Head SR d@al,....... § U gl g

a) Chir/dIs b) Shisham /=W

c) Sal/dd d) Teak/Jr M+

Q:19 The decay of timber caused by alternate wetting and drying
is called-
wmﬁﬁmmﬁ@mﬁ%wmm&mm

a) Dry rot / Y[ A b) Wet rot / 3IT% e

c) Foxiness / BTHRIAY d) Doatiness / fIf3a
(TG

Q:20 Dampness causes

T & BRI Il 8-
a) Efflorescence / 3dpcid
b) Bleaching of paints / Ue &7 favs=
c¢) Crumbling of plaster / WIRXCR ASHI
d) Growth of termites / D! B q@



Q:21 Sap wood consists of-
TO®TY W BT 6-
a) Inner most annular rings around the pith

Aol & IRI % Ja9d Hadt yrr & arffe aaa

b) Portion of timber between heartwood and cambium layer
3[d:PTY UG HIUH (TUT) WRd S AL YBTY BT HRT
c) Thin layers below the bark

BTd & Hd Ude! ud

d) Thin fiber which extends from the pith outwards and holds the
annular rings together

mﬁ%ﬁ%a’rmﬁwaﬁwaﬁaﬁ%amaﬁmaﬁﬁmu
wAE

Q:22 The innermost part or core having soft tissues found near
about the center of log of a timber tree is called /

TSI 98 & ¢ & o5 & (b Uil S areT Jad fiadt ymn
a1 $R Rred 7 S gid &, e g-

a) Pith /HIl

b) Heart wood / 3I~: PIY

c) Sap wood /IH Bl

d) Bast/dI¥c

Q :23 The disease of dry rot in timber is caused by
HT8 A I[P A BT I fFT HRUT giaT 2|
a) Lack of ventilation
Hard- & U
b) Alternate wet and dry conditions

THTR 5P a1 79 uRRUfT A

c) Complete submergence in water

od A Ui U §E8H W

d) None of the above

SWRIGd HI5 ol |

Q :24 Which one of the following is not endogenous tree?

e § @ S9-91 Sraeid g8 el 82



a) Bamboo tree
19 BT &

b) Teak tree
HFTH &7 g8

c) Palm tree
dlg DT 9&

d) Coconut tree

e &1 g8

Q :25 Match List | with List Il and select the correct answer using
the given below the lists.

-l & /T G- 1 e Sk e <t T giat @1 va

P el SR BT TG BN-
List-I(Defects in timber) List-li(Defect due to)
A (RvaR & @) T I-I(TRTET BT BRI
. 1. Crushing during growth

A. Knot / TITé q@ ¥ Qé’l'(g'l ST

B. Shake / & 2. Fungi attack / d® T STHHUT
3. Excessive heat, wind or frost

- during the growth
C. Rot/ gfe & drRM st i gar an
s

4. Fallen branches during growth

D.Upset/quﬁE q@%ﬁ'\rﬁﬁlﬁﬁﬂﬁém

a) A-d,B-c,C-b,D-a
b) A-a,B-b,C-c,D-d
c¢) A-b,B-c,C-d,D-a
d) A-d,B-a, C-b,D-c



